


In finding the HCF of two positive
integers by the division method, the
last divisor is 31, and the respective
quotients are 1, 1, 5 and 2. What is
the LCM of 279 and the greater of

the given two numbers?
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A pyramind has an equilateral
triangle as its base, of which each
'2’\1 side is 8 cm. its slant edge is 24 cm.
the whole surface area of the
pyramid (in cm?) is:
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If the highest common factor
(HCF) of x and y is 15, then the HCF
of 36x2-81y2 and 81x2-9y2is divisible
by
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ﬂ (Q’L’l'gj) (Q"L'g:’) (9' 15 g, ol 361:_\;—;‘1;;; aﬂg'\fl 81x2 —




The probabilities of solving a

problem by three students A, B and

C are .. .fu:,'uill respectively. The
7'9 o'

probability that problem will be

solved is:
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(a) 45,000
(c) 32,000

(b) 40,000

A sum of Rs x was invested for 12
years in scheme A which offers
simple interest at 8% p.a. The
amount received after 12 years was

reinvested in scheme B for 2% years

at compound interest at 12% p.a.,
compounded 10-monthly. If the
interest received from B was Rs.
32,438, then what is the value of x?

AT A § x DU DI AT 12 997 & forg
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W!OOO BT A9 T 87



In AABC, AD | BC and BE | AC,
AD and BE intersect at F (inside the
triangle). If AB = 20 cm, CD = 4 cm
and AD = 12 cm, then what is the
length of BE?

AABC ¥ AD | BC 3R BE L AC ®,
AD 3R BE, F ® (Ba & X
yfaesg &Xd & | IS AB = 20 9HI, CD =
4 99 3R AD = 12 | 8 o BE &I
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60 Study the following table and graph

- - and answer the question:
40 o 48 Revenue of the Company ABC in
B .t years from 2018 to 2021.
Q
Q. i
g20 Year | 2018 | 2019 | 2020 | 2021
a 10
0 Revenue | 232 | 204 | 279 | 217
2018 2019 2020 2021 lin Rs
crores)
Year "
Profit percent of a Company in the
. Revenue - Expenditure J -
Profit% = X

Expenditure Years 2018 to 2021

100
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(a) 33% (b) 32.6%
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The value of

0.896x0.752+0.112x1,984
1x (g "'}) 0.7 x0.034 +2.1x (0.322) y
Q+8= 4273
D3 =

— _AAT11.08 (b) 10.32
@ Aont 7 () 10.92(d) 9@
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A scooty can be bought for Rs
30,000 cash or for Rs 9,400 cash
down payment followed by 4 equal
monthly instalments. If the rate of

interest charged is 15% p.a., then
what is the value of each instalment,
interest being simple? (Nearest to a

Rs)

Th el 30,000 ¥YY e AT 9,400
PR APhe IJUH YA D 9K 4 GHHA
qif¥re fhwal & @d o gadr g afe
&S P X 15% Ufd 99 B, 9 I
fhed &1 qou RT 8, T4 TS WER &7
(. & APpcan)

(a) Rs. 5,324  (b) Rs. 5,406 @
() Rs. 5,298  (d)Rs. 5,308



For what value of m will the system

of equations 18x - 72y + 13 = 0 and
7x - my - 17 = 0 have no solution?

m\{mﬂﬁﬁ%mm 18x -
72y + 13 =0 3R 7x -my - 17 = 0 P

HUTTell T BIg BT Tol BRNT?
i

(b) 24 @

(c) 9

(d) 12



The cost of 3 kg of rice is Rs 180.
The cost of 8 kg of =i equal to
that of 5 pulse. The cost of 15
ulses is equal to that 2 kg of
ea. The cost of 3 kg of tea is equal
to that of 6 kg of walnuts. What is
the cost (in Rs) of 19_1‘_3 of walnuts?

3 fdelt age N HHT 180 TIA B 8
fhell a9 @& H¥g 5 fhell T B
ER 8| 15 fhall T/ & PHT S 2
foet T & WX 8| 3 fher g
PHd 6 fhell IWRIT & sEX | 10
frelr aRERIe @ HEa (FUA H) Tar 87

(a) 2400
(b) 3200

(c) 2800
«=1d) 3600
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If the external angle of a regular
polygon is 18°, then the number of
diagonals in this polygon is:

afe v frafia 9gqs &1 91 ST 18°
g, O 39 9899 # fasor @ we& &

(a) 180
(b) 150

A6 170

(d) 140
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A vessel is in the form of a hollow
hemispherical bowl mounted by a
hollow cylinder of certain height.
The radius of the bowl is 7 cm and
the volume of the vessel is 4928/3
cm?, What is the outer surface area
(in cm?) of the vessel? (Take =n =

22/7)
UH ga9 TP @G IEMATPR HeR B
w1 H 2 o v fAf¥Ea 9 & @Ea
909 R SEIRIUG 8| PR &I &Foar 7
I B 3R 99 BT AT 4928/3 JH
g O 9 BT I% TSI SAGA fdhar 8

'3'2_ @2 #H)? (n = <hfom) ﬂ'
e 572 (b) 528 )uml’

3 @ (c) 440 (d) 484 r 8



The radii of two concentric circles
are 13 cm and 5 cm. AB is the
diameter of the bigger circle and BD
is a tangent to the smaller circle at
the point D on it. The length of AD,

in cm, is:




Sn+ I3y =

10 x -#Sx—|-3Y=

= |4Y220

=378

4-SX—13Yy = 3780
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2- 33

Kewal bought 5 tables and 13 chairs
for a total of Rs 14,220. He sold the
tables at a profit of 15% and the
chairs at a loss of 10%. If his profit
in the entire transaction is Rs 378,
vnen what is the difference (in Rs)
between the cost price of 2 tables
and the cost price of 3 chairs?

®ad 4 $d 14,220 YUY H 5 AF 3R
13 HRET @< | SE7 A B 15% B
aM TR AR FRIAT B 10% B A W
saT| I R oF-<9 H SHPHT @M 378
Y B, W 2 AW P HI oI IR 3
SRl @& $T 9 D 919 AR (T #H)

22 ¥o-1620 7 #2

| 267
260 (b) 1280
(c) 1250 (d) 1240
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Let x = (0.47 + 0.52) + 2.272 and

1
y=1§—13 of 3£+5-— of z,what

S 9 "5,11 u
is the value of = ? "1
y

A x = (0.47 +0,52) + 2.272 3R

y=1=-12 of 3-—+5= of
5 9 11 7

®T q9 |7 27

@1/5  _pr2/3 @
(c) 5/3 (d) 3/2

3 .2 313,315
9 y



(b) 2% minutes

(c) 3% minutes

(d) 3% minutes

Pipes A and B together can fill an
empty tank in x minutes. A alone
takes (8 + x) minutes to fill the tank
and B alone takes (32 + x) minutes to
fill the tank.) and B together fill the
tank for 10 minutes. C alone fills the

remaining part of the tank in 41

2
minutes. A, B and C together can ({ill

% th part of the tank in:

94 A 3R B UHYY UP Wil el B x
9 4 R 9&d 8| I A 3P DI DI
A ¥ (8 + x) fA9c oar1 § 3R B 3@
TH B WA H (32 + x) e oar B
IR B THAEIY THl I 10 f9e T w=a

¥ C DT S D I AT @Y 4%
fFe ® wRaT 81 A, B 3R C UHEN EH
a%%mﬁr%ﬂfmﬁmm%?

L



Let x be the smallest number which
when divided by 12, 18, 20, 27 and
30 leaves remainder 2 in each case
and x is divisible by 47. If y is the
HCF of x and 1932, then what is the
sum of the digits of y?

A ofifolY f x 98 99 BIE! 9T ©
o 12, 18, 20, 27 3R 30 ¥ fawfor
e R T3S Refa § 2 99 vEar g iR
x, 47 ¥ faursg | Ifq x 3R 1932 &
TETH 9HY9AS (HCF) y 8, Al y @ 3l
&1 AT fhar 87

(a) 11 (b) 7

©"



In A ABC, BD is the bisector of B

which meets AC at D. If AB = 5 cm,
AD = 3 cm and BD = 7 cm, then what

is the length (in cm) of DC?

A ABC ¥ BD, /B & §dfgwoid &
AC 3 D R fAear g1 afe AB = 5 99,
AD = 3 9l 3R BD = 7 9 & @ DC

P! warg (@ ) fahae 27

e T47/16  (b) 109/12

(c) 37/4 (d) 71/8




¢ X 2% MYy =20

62+ 6-"3 =14-36
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The cost of 3 mangoes and 4 oranges
is Rs 70. If the price of a mango is
increased by 20%, and that of an
orange is decreased by 12%, then the
cost of 5 mangoes and 7 oranges is
becomes Rs 124.36. What is the
initial (price) of 2 mangoes and 3
oranges?

3 IM AR 4 TR & I 70 T 2
I T 3 & ¥ H 20% P! gfg gl
2 R Ud R @ o9 H 12% B HHI
gil B, A 5 Ml 3R 7 HRI BT A
124.36 ¥UY B WIAT &| 2 3 3R 3
TN BT IRMS (qeu) fovaam &7

Vf( Rs. 49.50 (b) Rs. 48

(c) Rs. 51.50 (d) Rs. 52



A and B started a business with their
investments in the ratio 2 : 3. Both
A and B being active partners receive
Rs. 36,000 and Rs. 30,000 per
month, respectively, as their salaries
ut of the total profit earned. After X
onths, if the total profit earned is
s. 7.68 lakhs and the incomes of A
nd B are equal, what is the value of
x?
A3IRBA2:3 D U H U e
® 9 U 99 Y [Har| 1 «fby
YRITR A 3R B AN ¢ o9 | HAM:
a9 36,000 %. 3R 30,000 %. Wi A8
M =] I & x T B aE, IR ARfT e
oY 7.68 . o9 & 3R A 3R B &I I
A 8, x BT A9 T 87

(a) 10 (b) 9

\—ters— (d) 6




A bag contains notes only of Rs 5, Rs
10, and Rs 20. The ratio of the
number of Rs 5 notes to the number
of Rs 10 notes is 11 : 8 and the ratio
of Rs 10 notes to the number of Rs
20 notes is 10 : 7. The total amount

g'S' 0 z? in the bag is Rs 3,705. The number
of Rs 10 notes in the bag is:

Th Jof H Hac1 59, 10 3, IR 20T D

B[ Sbo e §15 % B et AR 10 v B At B

|23 W BT U 11 : 8 & 10 © B Alci

3R 20 T & TSI B [T BT U 10
7%|€1?fﬁasawﬁr3705$%leﬁ
)T B et F G e ¥

m (b) 88

(d) 160



A cylindrical tank of radius 2% m

and height 3 m is full of water. If
47.1 kilolitres water is taken out
from the tank, then to what percent
does the water level drop in the

tank? (Take n = 3.14)

ﬁwz%ﬁaﬁ?ﬁﬁsﬁrmw

JoFBR ¢ UM ¥ W 2] 3fe & 9
47.1 fheneier i Fora f&ar s, @

¢P H UMl P WK fhaq e @ R
ST 87 (m = 3.14 #ifon)

L/m’ 20% (b) 15%
(c) 18% (d) 25%
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If x = ﬁ—land y = %, then value

of (x -2y + 1) (x2 + 4y2 + 2y + 2xy +
2x + 1) is:

ﬁx=\/§—13ﬁ?y=%fﬁ

(x - 2y+ ](xz+4y2+2y+21!y+2x+
1)@

(2)302 M - @

(c) -2642 (d) 152
- N\
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In APQR, QS | PR, RT | PQ and QS
and RT intersect each other at O.

The bisector of ZJOQR and ZORQ
meet at the same point M. If Z/QPR =

56°, then what is the measure of
QMR ?

APQR ¥ QS | PR, RT | PQ 3R QS
IR RT U6 TN & 0 W Fed &1
/OQR 3R /ORQ & HHGWIGI® TP &I
ffg M R fAed g1 If ZQPR = 56° &%,

a ZQMR T 91U T &7

4) 152° (b) 128° g ,\bdpb

(c) 142° (d) 138°






